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Ostwdatargb*, XYZxy, and L* & LMS(PDT)

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIEXYZ data D65—>E L* & LMS(PDT) data
rgbt Xy Yo & X Yg [g Lp My S

Ostwdata rgb*, XYZxy, and LabC*hgy, in the CIELAB-colour space

Tristimulus values of black and whité;=0,0, YW 88 6
rgby LYy @y by Clhg Napg

Ry10067 58 106 12161 ~_ R

Y411088 -2 136 13691 Ve ~

G401080-11367 132149 Ve 100

Ostwdatargb*, XYZxy, and L* & LMS(PDT)

Tristimulus values of black and whitéy,=40,3 Yn=88,6 Ys=88,6.

CIEXYZ data D65—>E L* & LMS(PDT) data
rgbt Xy Yo & X Yg [g Lp My S

Ostwdata rgb*, XYZxy, and LabC*hgy, in the CIELAB-colour space

Tristimulus values of black and whitéy,=40,3 YWn—88 6, Yns=88,6.
rgby LYy ayy bYy Clhg Napg

R;10082 25 20 539

Y411091 -1 37 37 91

G401087 -4423 50 152

Ry [100 (58,16 36,99 0,61 0,607 0,386 67,26 4810 3043 0,61 Cq01177 -64-3171 205 G Ry [100 (70,01 60,47 44,23 0,607 0,386 82,09 6547 57,53 44,23 Cq01186 -26 1530 210
Yy [110|7147 7265 1,03 0492 0500 8828 77,82 6959 103 O s o e s 0 Yy [110|77,27 7990 4446 0492 0500 9164 8LE6 78,87 4446 e 1 o 2
Gy [010 (22,21 57,87 12,20 0,240 0,627 80,66 47,56 63,94 12,20 N:OOOO 000 0 \ Gy [010 (50,42 71,85 50,55 0,240 0,627 87,89 6517 7579 50,55 N:DOOGQ 00 0 0
Cy [011(30,41 51,60 87,96 0,178 0,303 77,04 40,48 58,15 87,96 Wy111950 0 0 0 Cy [011 (54,89 6843 91,84 0,178 0,303 8622 61,32 72,63 91,84 Wy111950 0 0 0 a*
By [001 (17,11 1593 87,55 0,141 0,132 46,89 10,76 18,99 87,55 + + By [001 (47,64 49,00 91,61 0,141 0,132 7545 4512 51,29 91,61
Mg 1016636 30,71 76,37 0,382 0177 6226 4102 24,64 7637 -150  -100 Mg |101 |7448 57,05 8552 0,382 0177 8021 6161 54,37 8552 -150  -100
Ny [000 {000 000 000 0354 033 008 000 000 0,00 Ny [000 (38,32 40,32 43,90 0,354 0,336 69,70 39,26 40,95 43,90
W, [111 (88,60 88,60 88,60 0,333 0,333 9541 88,60 8860 88,60 2 =500 [%’ans) (Y/Vnes) ][1a] W, [111 (86,60 88,60 92,18 0,333 0,333 9541 87,54 89,22 92,18 2 =500 [%’ans) (Y/Vnes) ][1a]
N14[0,00 {000 000 000 0354 033p 008 000 000 0,00 b* = 200 [(Y/Ynes) ® 21209 [22] N1,4[0,00 38,32 40,32 43,90 0,354 0,336 69,70 39,26 40,95 43,90 b* = 200 [(Y/Ynes) ® 21209 [22]
W141,13 [100,00100,0199,45 0,333 0,333 100,00 100,05 99,98 99,45 Cr=[ar2 +b+ 108 13l W11,13 (92,82 94,81 98,10 0,333 0,333 97,96 9378 9542 98,10 Cr=[ar2 +b5 108 [3a]
714|018 [17,99 17,99 17,89 0,333 0,333 49,48 18,00 17,98 17,89 hys = atan [b* /a* | [4a] 71,4|0,18 [48,12 50,12 53,65 0,333 0,333 76,14 49,07 50,74 53,65 hyy = atan [b* /a* | [4a]
DEV30-1N DEV30-2N DEV31-1N DEV31-2N
Ostwdatargb*, XYZxy, and L* & LMS(PDT) Ostwdata rgb*, XYZxy, and L*ABCh ag in L*ABJND-colour space Ostwdatargb*, XYZxy, and L* & LMS(PDT) Ostwdata rgb*, XYZxy, and L*ABCh ag in L*ABJND-colour space
Tristimulus values of black and whité=0,0, Y,y=88,6 Tristimulus values of black and whitégy=0,0, Y,y=88,6 Tristimulus values of black and whitéy=40,3 Yyn=88.6 Yiya=88.6. Tristimulus values of black and whitégy,=40,3 Yyyn=88,6, ¥ya=88,6.
by Ly Ay By Gaga Maga B 1% Ly Ay By Gaga Maga B
CIEXYZ data D65->E L* & LMS(PDT) data 5‘1128:; 53 gf g‘l‘ 3‘2‘ CIEXYZ data D65->E L* & LMS(PDT) data 5‘11283 2? ;g gg 3‘2‘
rgb* \7 X Ly L M (] - rgb* \7 X Ly L M d -
WX e A X4 Ve I b S G401080 -89 45 100152 100 WX e A X4 Ve R b S G401087 -4824 54 152
Ry [100 (58,16 36,99 0,61 0,607 0,386 67,26 48,10 30,43 0,61 Cq01177 -52-36 64 214 Ry [100 (70,01 60,47 44,23 0,607 0,386 82,09 6547 57,53 44,23 Cq01186 -28-1935 214
B400146 2 -7171 272 B400175 1 -3939 272
Yq [110 |71,47 72,65 1 492 28 77,82 1 a Yq [110 |77,27 79,90 44,46 0,492 0, 1,64 8166 78,87 444 d
A 071, 65 1,03 0492 0500 88,28 77,82 6959 1,03 M\10162 89 45 100332 a 0 [77,27 79,90 44,46 0,492 0,500 91,64 8166 788 6 M.10160 48 _2a8e 32
Gy [010 (22,21 57,87 12,20 0,240 0,627 80,66 47,56 63,94 12,20 Ns0000O 0 0 0 0 Gy [010 (50,42 71,85 50,55 0,240 0,627 87,89 6517 7579 50,55 Nj000690 0 0 0
Cq [011(30,41 51,60 87,96 0,178 0,303 77,04 4048 58,15 87,96 Wy111950 0 0 0 Cq [011 (54,80 6843 91,84 0,178 0,303 8622 61,32 72,63 91,84 Wy111950 0 0 0
By [001 (17,11 1593 87,55 0,141 0,132 46,89 10,76 18,99 87,55 + By [001 (47,64 49,00 91,61 0,141 0,132 7545 4512 51,29 91,61
My |101 (66,36 30,71 76,37 0382 0,177 62,26 4102 2464 7637 150 My |101 (7448 57,05 85,52 0,382 0,177 80,21 6161 5437 8552 150
Ny [000 {000 000 000 0354 033 008 000 000 0,00 Ny [000 (38,32 40,32 43,90 0,354 0,336 69,70 39,26 40,95 43,90
W, [111 (88,60 88,60 88,60 0,333 0,333 9541 88,60 88,60 88,60 A =250 K/ Xpgs— Y I Yogs]  [16] W, [111 (86,60 88,60 92,18 0,333 0,333 9541 87,54 89,22 92,18 A =250 K/ Xpgs— Y I Yogs]  [16]
N1,[0,00 {000 000 000 0354 033p 008 000 000 0,00 B =100/ Ypes-Z/Zpes] [20] N1,[0,00 38,32 40,32 43,90 0,354 0,336 69,70 39,26 40,95 43,90 B =100/ Ypes-Z/Zpes] [20]
W141,13 |100,00100,0199,45 0,333 0,333 100,00 100,05 99,98 99,45 CAB:[AQ,,Bz]DE [3b] W141,13 (92,82 94,81 98,10 0,333 0,333 97,96 93,78 09542 98,10 CAB:[A2+B2]°‘5 [3b] -100
714{0,18 (17,99 17,99 17,89 0,333 0,333 49,48 18,00 17,98 17,89 hg = atan [B/A] [4b] 714{0,18 [48,12 50,12 53,65 0,333 0,333 76,14 49,07 50,74 53,65 hg = atan [B/A] [4b]
DEV30-3N DEV30-4N DEV31-3N DEV31-4N
Ostwdatargb*, XYZxy, and L* & LMS(PDT) Ostwdata rgb*, XYZxy, and L*ABCh ag1 in L*AB1IND-colour space Ostwdatargb*, XYZxy, and L* & LMS(PDT) Ostwdata rgb*, XYZxy, and L*ABCh ag1 in L*AB1IND-colour space
Tristimulus values of black and whité&=0,0, Y,y=88.6 Tristimulus values of black and whité=0,Q, Yiy=88,6 Tristimulus values of black and whitéi=40,3 Yw=88.6 Y:=88,6. | | nstimulus values of black and whité,=40,3 Yir=88,6, ¥a=88.6.
1gb% Ly Ayg By g GgraMasra B 1gb% Ly Ay g By g GgraMasra B
CIEXYZ data D65->E L* & LMS(PDT) data 5"1?3?2 ig 3? Sg 32 CIEXYZ data D65->E L* & LMS(PDT) data sdi?ggi 11*‘8 i; g 32
rgb* Y, X Ly L M d rgb* Y, X Ly L M d
WP Ve B Ma Ve e o S G401080 6149 79 141 Yoo PP Y A X Ve 4P b Sr G,01087 -3327 43 141
Ry [100 (58,16 36,99 0,61 0,607 0386 67,26 4810 3043 0,61 C401177 -55-39 68 215 Ry |100 (70,01 60,47 44,23 0,607 0,38 82,09 6547 57,53 44,23 C401186 -30-2137 215
Yg |110|71,47 72,65 1,08 0492 0500 8828 77,82 6959 1,03 B4 00146 ~18 -77 80 256 Yg |110 77,27 79,90 4446 0,492 0500 9164 8166 7887 4446 B4 00175 -10 -42 43 256
Mg10162 61 -4979 321 M410180 33 -2743 321
Gy [010 (22,21 57,87 12,20 0,240 0,627 80,66 47,56 63,94 12,20 Nj000O 0 0 0 0 Gy [010 (50,42 71,85 50,55 0,240 0,627 87,89 6517 7579 50,55 Nj000690 0 0 0
Cy |011 (30,41 51,60 87,96 0,178 0,303 77,04 4048 58,15 87,96 W4l11950 0 0 O Al Cy |011 (54,89 68,43 91,84 0,178 0,303 86,22 61,32 72,63 91,84 W4l11950 0 0 O Al
By |001 17,11 15,93 87,55 0,141 0,132 46,89 10,76 1899 87,55 ay=ay [ (x=x.) /¥ + + By |001 (47,64 49,00 9161 0,141 013 7545 4512 5129 9161 3y =ay [ (x=x.) /Y
My |101 (66,36 30,71 76,37 0,382 0,177 6226 4102 2464 7637 by =by[z/y -150 100 My [101 |74,48 57,05 8552 0,382 0,177 80,21 6161 5437 8552 by =by[z/y -150
Ny [000 {000 000 000 0354 033 008 000 000 0,00 azo—llféug ’01"000 Ny [000 (38,32 40,32 43,90 0,354 0,336 69,70 39,26 40,95 43,90 320'0111%08 ’01"000
X, = X.= ¥
W, [111 (88,60 88,60 88,60 0,333 0,333 9541 88,60 8860 88,60 A172561 a“)v g W, [111 (86,60 88,60 92,18 0,333 0,338 9541 87,54 89,22 92,18 A1:2,561-81n)‘/ g
N1,[0,00 {000 000 000 0354 033 008 000 000 0,00 B, =258, (b - by ) Y [2d] N1,[0,00 38,32 40,32 43,90 0,354 0,336 69,70 39,26 40,95 43,90 B, =258, (b~ by ) Y [2¢]
W141,13 [100,00100,0199,45 0,333 0,333 100,00 100,05 99,98 99,45 CABF[Af*Bf]d‘S 3d W141,13 (92,82 94,81 98,10 0,333 0,333 97,96 93,78 9542 98,10 CA51=[Af+Bf]6‘5 39 -100
714(0,18 (17,99 17,99 17,89 0,333 0,333 49,48 18,00 17,98 17,89 hag; = atan [B, /A, ] [4c] 714(0,18 [48,12 50,12 53,65 0,333 0,333 76,14 49,07 50,74 53,65 hagy = atan [B, /A, ] [4c]
DEV30-5N DEV30-6N DEV31-5N DEV31-6N
Ostwdatargb*, XYZxy, and L* & LMS(PDT) Ostwdatargb*, XYZxy, and L*ABCh agp in L*AB2JND-colour space Ostwdatargb*, XYZxy, and L* & LMS(PDT) Ostwdatargb*, XYZxy, and L*ABCh ag; in L*AB2JND-colour space
Tristimulus values of black and whité=0,0, Y=88,6 Tristimulus values of black and whité=0,0, Yiy=88,6 Tristimulus values of black and whitéi=40,3 Ywn=88.6 Ywz=88,6. | | nstmulus values of black and whité,=40,3 Yi=88,6, ¥va=88.6.
rgby Ly AdezucAszuhAazd B> rgby Ly AdezucAszuhAazd B>
CIEXYZ data D65->E L* & LMS(PDT) data snigggg ia pS 65 73 CIEXYZ data D65->E L* & LMS(PDT) data snigggi io - 35 73
rgb* Y, X L5y L M d rgb* Y, X L5y L M d
L L T T B d d o S G401080 -6139 73 147 100 L T R T B d d o S G401087 -3321 40 147 T 100
Ry [100 (58,16 36,99 0,61 0,607 0,386 67,26 48,10 3043 0,61 Cy401177 -55-3164 209 Ry [100 (70,01 60,47 44,23 0,607 0,386 82,09 6547 57,53 44,23 C301186 -30-17 34 209
Y4 |110 71,47 72,65 1,03 0492 0500 8828 77,82 6959 1,03 ?Aﬂggigg 38 :gg gg gg; Yq |110 77,27 79,90 44,46 0,492 0500 9164 8166 78,87 4446 ?Aﬂggigg ;go :gfig gg;
Gy [010 (22,21 57,87 12,20 0,240 0,627 80,66 47,56 63,94 12,20 N:OOOO 0 00 0 Gy [010 (50,42 71,85 50,55 0,240 0,627 87,89 6517 7579 50,55 N:OOOGQ 0 00 0
Cy [011(30,41 51,60 87,96 0,178 0,303 77,04 40,48 58,15 87,96 Wy111950 0 0 0 Ao Cy [011 (54,89 6843 91,84 0,178 0,303 86,22 61,32 72,63 91,84 Wy111950 0 0 0
By (001 |17,11 1593 87,55 0,141 0,132 46,89 10,76 18,99 87,55 A =ay[(x=x) /) + t By (001 (47,64 49,00 91,61 0,141 0,132 7545 4512 51,29 91,61 A =ay[(x=x) /)
My |101 (66,36 30,71 76,37 0,382 0,177 6226 4102 24,64 7637 b,=by[z/y -150 100 Mgy (101 |74,48 57,05 8552 0,382 0,177 80,21 61,61 5437 8552 b, =by[z/y
Ng [000]000 000 000 0354 033 008 000 000 000 azozolilbéog _064500 Ng [000 (3832 40,32 4390 0,354 0336 69,70 39,26 40,95 4390 azozolilbéog _064500
% =0,110,B, = 0; % =0,110,B, = 0;
W, (111 (88,60 88,60 88,60 0,333 0,333 9541 88,60 88,60 88,60 =256y, Y [ W, [111 (86,60 88,60 92,18 0,333 0,333 9541 8754 89,22 92,18 =25 6y Y
N14[0,00 {000 000 000 0354 0335 008 000 000 0,00 B, =258, (b, -b, ) Y [2d] N1,[0,00 38,32 40,32 43,90 0,354 0,336 69,70 39,26 40,95 43,90 B,=258, (b,-b,) Y [2d]
W141,13 [100,00100,0199,45 0,333 0,333 100,00 100,05 99,98 99,45 Crso = [A2+B2105 [3d] W141,13 (92,82 94,81 98,10 0,333 0,333 97,96 9378 9542 98,10 Crso = [A2+B2105 (3d] T -100
71,4{0,18 [17,99 17,99 17,89 0,333 0,333 49,48 18,00 17,98 17,89 hpgp = atan [B, /A, ] [4d] 714|018 [48,12 50,12 53,65 0,333 0,333 76,14 49,07 50,74 53,65 hagz = atan [B, / A, ] [4d]
DEV30-7N DEV30-8N DEV31-7N DEV31-8N

TUB-test chart DEV3; Affine colour metric for four colour spaces input:rgb/cmy0 (No 1MR)
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Yl=9p02

Ostwdatargb*, XYZ, and EMpSr, reflectionYn=0 & YnNn=40,32,Y\w=88,6, adaptatioiv\ys=88,6.
C M Y (o] L Vv
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